St. Clair County Road Commission St. Clair County- State Road Paving St. Clair County, Michigan May 23, 2024 @ 10:00 AM Bid Opening

	Bidder	Bid Amount	Bid Bond Y or N
1.	Ace-Saginaw Paving Company	\$ 353, 922.04	Ŷ
2.	P.K. Contracting, Inc.		
3.	Best Asphalt		
4.	Ajax Paving Industries		
5.	HG Sartor LLC		
6.	RMD Holdings, Ltd. d/b/a Nationwide Construction Group		
7.	James P. Contracting, Inc.		
8.	Eastern Asphalt Co.		
9.	Capital Asphalt LLC		
10.	Pavement Recycling, Inc		
11.	HG Sartor LLC		
12.			
13.			
14.			
15.			

A Champones r Opened by: Witnessed by: NIC

Bid Comparison

Contra Descri										
Location: Projects(s):		State Road Harris Road to Jeddo Road 610716								
Rank	Bidder		Total Bid	% Over Low	% Over Est.					
Rank 0		R'S ESTIMATE	Total Bid \$349,001.28	% Over Low -1.39%	% Over Est. 0.00%					

Line	ine Pay Item Code Quantity		y Units	(0) ENGINEER'S ESTIMATE		(1) Ace-Saginaw Paving Company			
Description				Bid Price	Total	Bid Price	Total	Bid Price	Total
0001	2090001	1	LSUM	\$1,500.00	\$1,500.00	\$500.00	\$500.00		\$0.00
Projec	t Cleanup								
0002	3077031	168	Ton	\$35.00	\$5,880.00	\$46.00	\$7,728.00		\$0.00
_ Аррі	roach, CL II, Modified								
0003	3077031	635	Ton	\$35.00	\$22,225.00	\$46.00	\$29,210.00		\$0.00
_ Shld	I, CI II, Modified								
0004	5010061	16	Ton	\$130.00	\$2,080.00	\$150.00	\$2,400.00		\$0.00
HMA A	Approach								
0005	5012013	1,784	Ton	\$92.00	\$164,128.00	\$84.60	\$150,926.40		\$0.00
HMA,	3EML								

Line Pay Item Code	Quantity	Unite			(1) Ace-Saginaw Pa	aving		
Description	Quantity	Units	(0) ENGINEER'S E Bid Price	-STIMATE Total	Company Bid Price	Total	Bid Price	Total
0006 5012025	1,190	Ton	\$98.00	\$116,620.00	\$98.00	\$116,620.00		\$0.00
HMA, 4EML								
0007 8070080	12	Ea	\$10.00	\$120.00	\$7.50	\$90.00		\$0.00
Guardrail Reflector								
0008 8072171	138	Ft	\$30.00	\$4,140.00	\$32.00	\$4,416.00		\$0.00
Guardrail, Type B, 72 inch Post								
0009 8077050	4	Ea	\$3,000.00	\$12,000.00	\$3,600.00	\$14,400.00		\$0.00
_ Guardrail, Approach Terminal, Type	e 2B							
0010 8110232	316	Ft	\$0.20	\$63.20	\$0.19	\$60.04		\$0.00
Pavt Mrkg, Waterborne, 4 inch, Yellov	w							
0011 8110233	7,814	Ft	\$0.22	\$1,719.08	\$0.27	\$2,109.78		\$0.00
Pavt Mrkg, Waterborne, 6 inch, White	Э							
0012 8120035	80	Ea	\$18.00	\$1,440.00	\$5.00	\$400.00		\$0.00
Channelizing Device, 42 inch, Fluore	scent, Furn							
0013 8120036	80	Ea	\$0.01	\$0.80	\$0.01	\$0.80		\$0.00
Channelizing Device, 42 inch, Fluore	scent, Oper							
0014 8120140	2	Ea	\$400.00	\$800.00	\$775.00	\$1,550.00		\$0.00
Lighted Arrow, Type C, Furn								
0015 8120141	2	Ea	\$1.00	\$2.00	\$0.01	\$0.02		\$0.00
Lighted Arrow, Type C, Oper								
0016 8120170	1	LSUM	\$8,000.00	\$8,000.00	\$16,000.00	\$16,000.00		\$0.00
Minor Traf Devices								
0017 8120246	312	Ft	\$5.00	\$1,560.00	\$2.65	\$826.80		\$0.00
Pavt Mrkg, Wet Reflective, Type R, T	ape, 4 inch,	Yellow,						
0018 8120350	308	Sft	\$6.00	\$1,848.00	\$4.25	\$1,309.00		\$0.00
Sign, Type B, Temp, Prismatic, Furn				÷ ,	, -	· ,		
0019 8120351	308	Sft	\$0.01	\$3.08	\$0.01	\$3.08		\$0.00
Sign, Type B, Temp, Prismatic, Oper					·			
0020 8120352		Sft	\$6.00	\$72.00	\$6.00	\$72.00		\$0.00
Sign, Type B, Temp, Prismatic, Spec,	, Furn				·			
0021 8120353	12	Sft	\$0.01	\$0.12	\$0.01	\$0.12		\$0.00
Sign, Type B, Temp, Prismatic, Spec,	, Oper							

Contract # 610716 (State Road Harris Road to Jeddo Road) MERL: 2023.5.0 Page 2 of 3

5/23/2024 3:12:45 PM

Line Pay Item Code	Quantity Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	iving		
Description		Bid Price	Total	Bid Price	Total	Bid Price	Total
0022 8120370 Traf Regulator Control	1 LSUM	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00		\$0.00
0023 8217050 _ Monument Box, Special	1 Ea	\$800.00	\$800.00	\$800.00	\$800.00		\$0.00
Bid Totals:			\$349,001.28		\$353,922.04		